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QUESTION 1

How can you find out which external and native stored procedures are active in the system? 

A. Use the -DIS PROCEDURE(*.*) command. 

B. Use the -DIS THREAD(*) TYPE(PROC) command. 

C. There is no WLM or DB2 command to obtain this information. 

D. You can only obtain this information indirectly if you know the WLM application environment by issuing the D
WLM,APPLENV=xxxx command. 

Correct Answer: C 

 

QUESTION 2

Which option allows the UNLOAD utility to unload LOBs into output files together with non-LOB data? 

A. DELIMITED 

B. SPANNED YES 

C. DSNTYPE HFS on the TEMPLATE 

D. DSNTYPE LIBRARY or PDS on the TEMPLATE 

Correct Answer: B 

 

QUESTION 3

When converting a multiple table segmented table space to partition-by-growth table spaces, which statement is
correct? 

A. DSMAX may have to be increased. 

B. Storage requirements for EDMDBDC will decrease. 

C. Storage requirements for some applications will increase. 

D. The dynamic statement cache should be increased to handle the additional SQL statements. 

Correct Answer: A 

 

QUESTION 4

The application will be handling a large volume of input data that will need to be added to or update 4 different tables.
On average, there will be 50 million input records daily. To ensure that the application process to SQL INSERT and SQL
UPDATE(or SQL MERGE) delivers a high level of availability to the tables involved in this application process, what is a
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key component of the application coding? 

A. Issue a LOCK TABLE for all 4 tables. 

B. Execute the SQL INSERT before the SQL UPDATE. 

C. Provide an effective commit / restart process. 

D. Run a QUIESCE utility before the process starts. 

Correct Answer: C 

 

 

QUESTION 5

On what type of index would an ALTER INDEX ADD COLUMN be allowed? 

A. An XML index. 

B. An auxiliary index. 

C. A user defined catalog index. 

D. An index defined with BUSINESS_TIME WITHOUT OVERLAPS. 

Correct Answer: C 
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